MSE228 Engineering Quantum Mechanics
Quiz 6 Duration: 30 minutes Open Book Quiz

1. Acertain atom has six electrons in the 3d level. (a) What is the maximum possible total
m, for the six electrons, and what is the total ms in that configuration? (b) What is the

maximum possible total ms for the six electrons, and what would be the largest possible
total my in that configuration?
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2. The ground state of helium has the configuration 1s?. Use the electron screening
model to predict the energies of the following excited states of helium: (a) 1s'2s?!
(measured value -4.0 eV); (b) 1s'2p? (-3.4 eV); (c) 1s'3d* (-1.5 eV).

(i ]/ g R
LS"I’DZfﬂ;‘(_ 5,2"& ///“ﬁ_//ﬂf‘/\ P /{Si’

T
Nl f‘ S ; 4 r S

,')‘ Ll d ; , - e ",,_,f‘ IN exe/72d sfates
W NBLE , Wt o iy s .

X cNaqy +2., / -

S Va & D sotens o Oy 1s’ ¢ /—f’ff*’fﬁ:{é)

P ~y 2 op=21 P Sl o> £
(npe1meyia Gt 7o 7/ ouAfr £

3 g =D Lga 12(A36eV ) 24V
éfy/’)_g’ég!/ ~ 25 & & T =
> € 25 closer 10 pukhis Lhom
&7 4 {f 7/ / /

=2 Vi TAL maclel oo ets.
C,[/‘ /:,‘ 2 = -

APy E5==2L 2|/ i 7 ¢ / / :
e - T = e i expetnmted vaduad . GO 2Gnament -
el | ! :‘)Z / E‘ B / : /
il - Ep=7 (=(36el)

2 /
/ ' / k i
22 L 'Za/ wl +o oz 270 ,/}'/"J’(/C vl -

<9 /

[ .o / v P, 4 S
Lo %’WA e 72 pyptelion. 70 15¢,



